


A rocket is fired vertically from the earth's surface and reaches a maximum
altitude above the surface of the earth equal to four earth ~adii. What is
the initial speed of the rocket ?

A. 3.8 km/s
~ 10 km/s

c. 7.6 km/s
D. 16 km/s
E. 12 km/s
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Two particles of mass M are initially separated by a dist.ance D. Theyare
released from rest and accelerate towards one another through gravitational
attraction. What is the kinetic energy of each particle when their
separation distance .is D/3 ? (G = gravitational constant)

A. 3*G*(M**2)/D .~ D ; ~~\haQ

@ G*(M**2)/D
c. G*M/(2*(D**2)) O~ -'7@ p,~
D. 4*G*(M**2)/D ~f~ ~

E. G*(M**2)/(2*D)
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A satellite is observed to orbit a large planet close to its surface with a
period of 6.00 hours. Find the average mass density of the planet. Assume
that the planet is spherical.

A. 2725 kg/(m**3)
B. 1.29 kg/(m**3)
C. 170 kg/(m**3)

@ 303 kg/(m**3)
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At what altitude (in earth's radii) above the surface of the earth would

the acceleration of gravity be 1/8 of that on the surface ? ( Re = radius

of the earth )

A. 0.65'* Re
@ 1.83 * Re

C. 2.51 * Re

D. 1.02 * Re

E. 0.44 * Re
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